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Question 1

In which type of society does large-scale gardening satisfy most needs for food? 
		A) hunting and gathering
		B) horticultural
		C) agrarian
		D) transitional
Answer: https://biology-forums.com/index.php?topic=638844

Question 2

___________  The preferences people share about what is good or bad, right or wrong, desirable or undesirable.
Answer: https://biology-forums.com/index.php?topic=638758

Question 3

__________  Refers to keeping the most dangerous criminals locked away.
Answer: https://biology-forums.com/index.php?topic=639032

Question 4

___________  Research techniques designed to obtain subjective understanding, interpretation, and meaning of social behavior.
Answer: https://biology-forums.com/index.php?topic=638556

Question 5

___________  A theory of aging that emphasizes the importance of the elderly gradually disengaging from their roles in society.
Answer: https://biology-forums.com/index.php?topic=638903

Question 6

Your college or university is an example of an educational bureaucracy.
		T/F?
Answer: https://biology-forums.com/index.php?topic=639137

Question 7

The situation in which the credentials required to obtain a job increase while the skills necessary to perform the job remain the same:
		A) educational inflation 
		B) credentialism
		C) educational upgrading
		D) deskilling
Answer: https://biology-forums.com/index.php?topic=639938

Question 8

When a minority group adopts majority dress, foods, customs, values, norms, and language, it is said to have:
		A) structurally assimilated
		B) culturally assimilated
		C) partially assimilated
		D) assimilated
Answer: https://biology-forums.com/index.php?topic=639405

Question 9

In most religions the status of women in comparison to men:
		A) is the same
		B) is less
		C) is greater
		D) impossible to generalize
Answer: https://biology-forums.com/index.php?topic=640056

Question 10

Which of the following is true of Mexican Americans?
		A) overwhelmingly Roman Catholic
		B) have a strong family orientation
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		C) mostly reside in urban neighborhoods
		D) all of the above
Answer: https://biology-forums.com/index.php?topic=639420

Question 11

Socialization tends to be a conservative force within society.
		T/F?
Answer: https://biology-forums.com/index.php?topic=638977

Question 12

___________  Large religious congregation in which  the church becomes a life center around which people organize their activities and provides its
members with many non-traditional services and facilities.
Answer: https://biology-forums.com/index.php?topic=639980

Question 13

An informal group:
		A) has a well-defined social structure
		B) is a cluster of people who share a social trait
		C) lacks a rigid social structure
		D) are people who gather at a specific place without developing a sense of togetherness
Answer: https://biology-forums.com/index.php?topic=639187

Question 14

The main difference between the upper class and the lower-upper class is:
		A) the upper class play polo and the lower-upper class do not
		B) the upper class will marry only the upper class 
		C) the lower-upper class have recently achieved wealth and success
		D) the upper class uniformly have more wealth than the lower-upper class
Answer: https://biology-forums.com/index.php?topic=639288

Question 15

Sociological perspective argues that as a consequence of dividing labor and roles along gender lines, women become dependent on men for
protection and resources:
		A) functionalist 
		B) conflict
		C) symbolic Interaction
		D) feminist
Answer: https://biology-forums.com/index.php?topic=639548

Question 16

Social movement theory that argues that a social movement is likely to develop when people perceive a gap between what they feel their situation to
be and what they feel their situation should be:
		A) relative deprivation
		B) resource-mobilization
		C) mass society
		D) rational choice
Answer: https://biology-forums.com/index.php?topic=640343

Question 17

___________  An economy that mixes features of both capitalist and socialist systems including both public and private ownership of property and
limits on free market competition.
Answer: https://biology-forums.com/index.php?topic=639564

Question 18

Functionalist theorists argue that poverty has some benefits for society in that it supplies a pool of inexpensive labor for dirty jobs and their low wages
hold down prices.
		T/F?
Answer: https://biology-forums.com/index.php?topic=639266

Page 2 of 3



BIO
LOGY-F

ORUMS.C
OM

Sociology for the 21st Century, Census Update - 1541 Total Questions - Biology-Forums.com

Question 19

__________  The adaptation to structural strain within society in which the person rejects both the means and the goals of society but does not
replace them with anything that the society regards as worthwhile.
Answer: https://biology-forums.com/index.php?topic=639021

Question 20

___________  The ability to discern the relationship between individual experience and social forces in the larger society,
Answer: https://biology-forums.com/index.php?topic=638412
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